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MATH 141 (Section 5 & 6) University of South Carolina
Prof. Meade Fall 2013

Quiz 8 Name: KP o

October 24, 2013 Section: 005 / 006 dcircle one)

points) Find the absolute extreme values of the function f(z) = (22 +2x)° on the interval
2,1]. Note: 25 — 32, 35 = 243, 45 = 1024 and 5° = 3125.
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2. (4 points) Verify that the function f(r) = % satisfles the hypotheses of the Mean Value
Theorem on [—1,2]. Then find all numbers ¢ that satisfy the conclusion of the Mean Value

Theorem. Note: v/18 = 3v/2 &2 4.2.
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'xtra Credit (2 points) Give an example of a closed bounded interval [a, b] on which the function f(z) = 235
does not satisfy the conclusion of the Mean Value Theorem. Explain what hypothesis is not

satisfied on your interval.
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